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logarithmic Ta, To-data
log Ta = 2 logBo− logGo
log To = logTa − 0,17
log [ Ta, To, Go, Bo ]

uλ = (λ − 550) / 50
logGo = −0,35[uλ−u500]
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logBo = −0,35[uλ−u475]
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logarithmic Ja, Jo-data
log Ja = 2 logDo− logGo
log Jo = logJa − 0,40
log [ Ja, Jo, Go, Do ]

uλ = (λ − 550) / 50
logGo = −0,35[uλ−u500]
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logDo = −0,35[uλ−u538]
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λUT=519
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logarithmic Ra, Ro-data
log Ra = 2 logJo− logGo
log Ro = logRa − 1,57
log [ Ra, Ro, Go, Jo ]

uλ = (λ − 550) / 50
logGo = −0,35[uλ−u500]

2

logJo = −0,35[uλ−u575]
2

Adaptation: λUT=537.5
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logarithmic Ua, Uo-data
log Ua = 2 logWo− logGo
log Uo = logUa − 0,17
log [ Ua, Uo, Go, Wo ]

uλ = (λ − 550) / 50
logGo = −0,35[uλ−u500]
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logWo = −0,35[uλ−u525]
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logarithmic Na, No-data
log Na = 2 logUo− logGo
log No = logNa − 0,70
log [ Na, No, Go, Uo ]

uλ = (λ − 550) / 50
logGo = −0,35[uλ−u500]
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logUo = −0,35[uλ−u550]
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Threshold
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logarithmic Ba, Bo-data
log Ba = 2 logWo− logJo
log Bo = logBa − 0,70
log [ Ba, Bo, Jo, Wo ]

uλ = (λ − 550) / 50
logJo = −0,35[uλ−u575]

2

logWo = −0,35[uλ−u525]
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λUT=550
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Threshold
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logarithmic Ba, Bo-data
log Ba = 2 logGo− logWo
log Bo = logBa − 0,17
log [ Ba, Bo, Wo, Go ]

uλ = (λ − 550) / 50
logWo = −0,35[uλ−u525]

2

logGo = −0,35[uλ−u500]
2

λUT=513
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Threshold
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logarithmic Oa, Oo-data
log Oa = 2 logJo− logWo
log Oo = logOa − 0,70
log [ Oa, Oo, Wo, Jo ]

uλ = (λ − 550) / 50
logWo = −0,35[uλ−u525]

2

logJo = −0,35[uλ−u575]
2

λUT=550
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Threshold
Sa=0.01

IE201−1NMon2Uo−>JaJo

525550575

λ /nm
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logarithmic Ja, Jo-data
log Ja = 2 logUo− logWo
log Jo = logJa − 0,17
log [ Ja, Jo, Wo, Uo ]

uλ = (λ − 550) / 50
logWo = −0,35[uλ−u525]

2

logUo = −0,35[uλ−u550]
2

λUT=537,5
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logarithmic Wa, Wo-data
log Wa = 2 logDo− logUo
log Wo = logWa − 0,04
log [ Wa, Wo, Uo, Do ]

uλ = (λ − 550) / 50
logUo = −0,35[uλ−u550]

2

logDo = −0,35[uλ−u538]
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λUT=537,5
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Threshold
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logarithmic Ta, To-data
log Ta = 2 logGo− logUo
log To = logTa − 0,70
log [ Ta, To, Uo, Go ]

uλ = (λ − 550) / 50
logUo = −0,35[uλ−u550]

2

logGo = −0,35[uλ−u500]
2

λUT=525
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logarithmic Ga, Go-data
log Ga = 2 logWo− logUo
log Go = logGa − 0,17
log [ Ga, Go, Uo, Wo ]

uλ = (λ − 550) / 50
logUo = −0,35[uλ−u550]

2

logWo = −0,35[uλ−u525]
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λUT=525
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logarithmic Ja, Jo-data
log Ja = 2 logPo− logUo
log Jo = logJa − 0,04
log [ Ja, Jo, Uo, Po ]

uλ = (λ − 550) / 50
logUo = −0,35[uλ−u550]
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logPo = −0,35[uλ−u563]
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λUT=563
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logarithmic R’a, R’o-data
log R’a = 2 logJo− logDo
log R’o = logR’a − 0,38
log [ R’a, R’o, Do, Jo ]

uλ = (λ − 550) / 50
logDo = −0,35[uλ−u538]

2

logJo = −0,35[uλ−u575]
2

Adaptation: λUT=563
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logarithmic R" a, R" o-data
log R" a = 2 logBo− logUo
log R" o = logR" a − 1,57
log [ R" a, R" o, Uo, Bo ]

uλ = (λ − 550) / 50
logUo = −0,35[uλ−u550]

2

logBo = −0,35[uλ−u475]
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λUT=513
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Threshold
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logarithmic R’a, R’o-data
log R’a = 2 logBo− logGo
log R’o = logR’a − 0,17
log [ R’a, R’o, Go, Bo ]

uλ = (λ − 550) / 50
logGo = −0,35[uλ−u500]

2

logBo = −0,35[uλ−u475]
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λUT=487,5
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